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GENERAL INSTRUCTIONS for This Test

» The question paper consists of 3 sections (Section-A contains Science, Section-B contains
Mathematics, Section-C contains Reasoning).

» This Question Paper contains a total of 60 quesstions.

» All questions are single correct type questions. Each of these questions has four choices (A), (B), (C) and
(D) out of which ONLY ONE is correct.

» Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

» For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to
the correct answer and zero mark if no bubble are darkened. In all other cases, minus one (—1) mark will
be awarded

> Also read instructions written on the OMR sheet.

Y

Please fill the OMR answer sheet accordingly and carefully.

» Blank spaces and blank pages are provided in this booklet for your rough work. No additional sheets will
be provided for rough work.

» Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.
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PART-1: SCIENCE

[SINGLE CORRECT CHOICE TYPE]

Two satellites S, and S, revolve round a planet in the same direction in circular orbits. Their period of
revolution are 1 hour and 8 hour respectively. The radius of S, is 10* km. The velocity of S, with respect
to S, will be

q1 SWrE S, S, fbdl wE & ARl SR WA Q¥ H TABR o R B | b AGdble HHI: 1 HeT d
geuc & S @ s 10°km 8|S, ®1 S, & W I &

(A) T x 10* km/hr (B) w/3 x 10 km/hr  (C) 271 x 10* km/hr (D) m/2 x 10* km/hr

A truck running along a straight line increases its speed uniformly from 30 m/s to 60 m/s over a time
interval 1 min. The distance travelled during this time interval is

v Aiefl XY@1Y T Tl Uh ©b | e & 99y 3faRTd | 319+ 1T &l F99 w9 9 30 Hiex/dAdbs
H IR 60 HeX ADHS HX <l | 39 AT JRTA & ARM T @ T8 0 B

(A) 900 m (B) 1800 m (C) 2700 m (D) 3600m

The mass of an aeroplane is 2.5 t. Its engine develops a force of 8750 N before taking off. The acceleration

of the aeroplane at the time of take off is :

Td §ATS S8 HT SIAM 2.5CH B | 3ABI $919 IS W H Ugal 8750 R &1 9o fAHRid Fal & | SSH
@ THY BATE STBTSl Pl @RUT o—

(A) 3.45 ms™ (B) 3.65 ms™ (C) 3.50 ms™ (D) 3.60 ms™

A horse while running at a constant velocity of 15 ms™!, develops a momentum of 3000 Ns. The mass of

horse is:
TE 'reT 15 ms™ & a9 | S gY 3000 Ns &7 a7 ASRid &=l § | 9IS &1 S8 2 -
(A) 180 kg (B) 300 kg (C) 200 kg (D) 250 kg

Space for rough work
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5.

A man weighs 60 kg at earth's surface. At what height above the earth's surface his weight becomes 30 kg?
(radius of earth = 6400 km).

ged] Pl [T W UP AGH BT gor 60 fhall § | godl & F A fhaeil S8 R I96 aud 30 fhal 81 Sl
g ? (g B 331 = 6400 fH) |

(A) 1624 km (B) 2424 km (C) 2624 km (D) 2826 km

6.  Two persons do the same amount of work, one in 10 s and the other in 20 s. Find the ratio of the power
used by the first person to that by the second person.
3 A 9 B BRA 8, Th 10 FHTS H IR AN 20 AHUS H | Ugel AfHI §RI IUART &l T3 wfad
H IR AT gRT SUART &I T drell wfdd &1 U $1d S |
(A) 6 (B) 2 © 5 (D) 4
7.  Newton's second law of motion is not the measure of
(A) force (B) acceleration (C) momentum (D) impulse
][eA &1 fgdg Fgm feaer 9= 78] dRar:
(A) 9 (B) @Rl (C) a7 (D) 3maT
8. The solid state of CO, is called :-
(A) Tear gas (B) Cooking gas (C) Dry ice (D) Laughing gas
CO, &1 o 3[Ry ¥ fhd 9 | ST A & 2
(A) g 99 (B) w&@E ™ (C) g&! (D) &
9. One mole of CO, contains :
(A) 1 mole of carbon (B) 2 mole of oxygen
(C) 3 mole of carbon and oxygen (D) all of the above
T A1 CO, 9 a1 B
(A) 1 91a ®1EA (B) 2 A1t 3ffRieH
(C) 3 AIct ®1E= qe SffaRiIST (D) va® T
Space for rough work
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10. The bond formed between two atoms of an electronegative element is :-

(A) Ionic (B) Covalent (C) Coordinate (D) None of these
] 3% fagld Ul arel WRATSH & | g9 dTell 99 Il BT -
(A) IS g4 (B) Weaaoid 99 (C) Sudgsddoid 99 (D) $9H A A BIg T8

11. Which of the following ions is the smallest in size ?

1 & 9 59 e &1 MeR 9e &H § °?
(A) Mg** (B) Na* (©) 0* (D) F~
12.  All samples of carbon dioxide contain carbon and oxygen in the mass ratio of 3 : 8. This is in
agreement with the law of —
(A) Conservation of mass (B) Constant proportion

(C) Multiple proportions (D) Gaseous volumes.

PATSZATASS & A THAI H B+ JAT Ao H GIAE U 3 : 82| I8 fow Ffow &

I gaY # g—
(A) A GR& 1 fm (B) ReRr arqurd &1 g\
(C) forg srgura &1 g\ (D) 9T maasl &1 fgw

13.  The number of moles present in 36 g of water are

36 ¢ ST H SURYA T & IMURN & Al B AT 8 —

A) 1 (B) 2 © 3 (D) 4
14.  Kinetic energy of molecules is highest in —
(A) Gases (B) Solids (C) Liquids (D) Solutions
U3l & IS FHorl AfdwaH fhad Bl 8-
(A) T8 (B) ari (C) wai (4) faerai
Space for rough work
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15.  An animal cell differs from a plant cell in respect of —

(A) ER (B) Cell wall (C) Ribosomes (D) Cell membrane.

gl HI¥TeT UGy BIkIeT 9 fhad = 8kl g —

(A) 3 g STiferdt (B) dIfdreT faxh (C) r=arsi (D) o1 fRreeht
16. Ribosomes are the centre for —

(A) Respiration (B) Photosynthesis (C) Protein synthesis (D) Fat synthesis.

IS fhadT dd § —

(A) Ta99 (B) UBTI HTAYU (C) Urde |y (D) 99T I
17.  Endothelium of the inner surface of blood vessels in vertebrates is formed

(A) simple squamous epithelium (B) columnar epithelium

(C) cuboidal epithelium (D) ciliated cells

FHIEH H HER AR BT IR YoeIetId &7 a1 2Ial 28—

(A) I Ted! BT (B) WHIGR Sudel  (C) g9ThR Iudhell (D) gedY PIfrepT
18. Tendon connects

(A) cartilage with muscles (B) bone with muscles (C) ligament with muscles (D) bone with bone

HUST ST 8-

A)SuRg B T d B)RF @ wET A (C) ¥ & = | (D) a1RRer @1 1lRer |
19. Indesert plants, rate of water loss gets reduced due to the presence of :-

(A) Cuticle (B) Stomata (C) Lignin (D) Suberin

AR el W S & @R BT BH BRAT B -

(A) FgfePe (B) % (C) &t (D) e
20. Body of the bony fish does not show gills as they are covered by :

(A) Scales (B) Operculum (C) Fins (D) Skin

IR ATl W FAd fhd AR & HRYN a1 faEd 8 ¢

(A) USc¥ e (B) =B (C)ug (D) =

Space for rough work
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PART-II : MATHEMATICS

[SINGLE CORRECT CHOICE TYPE]

21.

22.

23.

24.

25.

The value of 324 +3/81 -3192 , is :-

324 + 381 - 3192 &1 A9 BIM—

(A) 33 B) 3 <) 3 (D) None of these
The factors of x> — 2x> — 13x — 10 are :-

X3 -2x2 - 13x - 10 & qUES © -

A x-1)x+2)x+)5) B)Ex-1)x-2)(x-15)
O Ex+1D)Ex=-2)x+)5) D)+ Ex+2)x-95)
If the distance between points (p, =5), (2, 7) is 13 units, then p is

afg f[&3at (p, =5), (2,7) @ 99 @1 A 133H18 &, Al p 2
(A)-3or7 (B)-7o0r3 (C)-3or-7 (D)3 or7
Two lines are intersecting, if they have :

(A) A common point (B) An uncommon point

(C) Two collinear point (D) None of these

g1 9 yfoess sl 8, 3 S

(A) U 9= fa=g) (B) T& @™y fdg

(C) a1 ¥ Rw fig (D) 378 & I T8I

In figure, find x if AB 1| CD.

& 13 arwpfa |, ABIICD 2, @1 x §1a @iy
(A) 45°

(B) 55°

(C) 60°

(D) 70°

Space for rough work
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26. In the given figure if AD = BC and AD 11 BC, then :
& T agfad § e AD=BCIIRADIBC®,dl: b

(A) AB =AD (B) AB =DC
(C)BC=CD (D) None of these A

B

27. The altitude of an equilateral triangle of side 2+/3 cmiis :

243 ¥H YSI1 arel U |HaTg S @ TS ¢ -

(A) g cm (B) % cm © ? cm (D)3 cm
28. Point of intersection of the lines x + y = 1 and 2x + 2y =4 are :
(A) (1, 1) B) 2, 2) (C) No intersection point (D) Many point
WM x +y = 131R2x +2y = 4 & yfoeesd fig € -
(A) (1, 1) B) (2, 2) (C) &3 wfdweea fig a8 (D) &3 fdg
29. One of the diagonals of a thombus is equal to a side of the rhombus. The angles of the rhombus are

FHAIHS B U AP0 FFadys @ Yol & SRR BIdl 2 | GHagHs @ Il g |

(A) 60° and 80° (B) 60° and 120° (C) 120° and 240° (D) 100° and 120°
30. In figure, AD = 6 cm, CF = 10 cm and AE = 8 cm, then AB is

& g 3 § AD = 6 cm, CF = 10 cm @21 AE = 8 cm 8, d AB 8I—

(A) 8 cm (B) 6.5 cm (C) 7.5 cm (D) 9 cm

Space for rough work
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31.

32.

33.

34.

35.

In the given figure, two chords AB and CD of a circle intersect each other at a point E such that Z/BAC
=45°, ZBED = 120°. Then find ZABD.

& 8 AR H, TH g BI &1 Sirar AB 3R CD Us §8Y &l fdg E W 59 UsR ufaess o)dl & &
ZBAC = 45°, Z/BED = 120° @I ZABD @ &Ifog—

(A) 15° (B) 30°
(C) 45° (D) 60°

If a, b and c are the sides of a triangle, then :-

afg a, b dT ¢ fodY By @ty 8, ar -

(A)a—-b>c B)c>a+b (C)c=a+b MD)b<c+a

A hemispherical bowl is made of steel of 0.25 cm thickness. The inner radius of the bowl is 5 cm. The
volume of steel usedis ___

Uh MdATg BT HIRT0.25 FH Hiels & TId &1 941 8IdT 8 | R 31 Ha Broar 599 2 | g3 fean
T W BT AT B

(A) 42.15 cm? (B) 41.52 cm? (C)41.25 cm? (D) None of these

The runs scored by Sachin in 5 test matches are 140, 153, 148, 150 and 154 respectively. Find his
mean:-

afod gRT 5SS J491 | 9917 T X9 B 140, 153, 148, 150 3R 154 8 | SHBT A1 7T HIT0—

(A) 150 (B) 149
(C) 148 (D) None of these
P(E) + P(E) is equal to

P(E) + P(E) ®T 919 81—

A)O B) % O 1 (D) None of these

Space for rough work
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36. If A, B, C are the remainders of x> —=3x2—x + 5, 3x* = x>+ 2x?> —2x -4, 2x° = 3x* + 5x* - 7x> + 3x — 4,
when divided by (x + 1), (x + 2), (x — 2) respectively, then the ascending order of A, B, C is
JRA,B,C x3-3x2—x+53x' = x3+2x* =2x -4, 2x° - 3x* + 5} - 7x2+ 3x - 4 & ATGA =, 99
3= (x+ 1), (x +2), (x=2) % fawfora foar srar 8, @1 A, B, C &7 RIS $HH 81—

(A) A,B,C (B) B,C,A (C) A,C,B (D)B, A, C
A B C D JAa +Bb +JCe +/Dd
37 M=y T then oy erd JA+B+C+D
A B C D JAa +/Bb ++/Cc +/Dd
R :_;__=E g Ja+b+c+d JA+B+C+D )
(A)0 B)1 ©-1 D)2

38. If (1,2), (5,2) and (5, 6) are vertices of a triangle, then the distance between its circumcenter and centroid
is
afE (1,2), (5,2) 3R (5,6)TE BFIYS & Y &, O S¥s IR 3R H=<H & dId B g3 BI—

(A) Sf units (B) Sf units © ¥ units (D) %units

39. The point among the following, which doesn't lie in the octant X'OYZ', is
frfarfaa & @ 98 fdg, o ecd X'OYZ'# 718 B, 28—

(A) (-1,-2,4) (B)(-2,-3,-5) (C)(=2,-5,1) (D) (-4,-5,1)

40. If f(x) = x*> + 5x + p and Q(x) = x> + 3x + 9 have a common factor, then
T f(x) = x>+ 5x + pIAR Q(X) = x>+ 3x + 9 FT & IWIMS UGS &I, Al
(A) (p-q)*=2(3p-5q) B) (p-q)*=0Gp-59)
©) (p-q)’=3p+5q (D) (p-q)*=23p+5q)

Space for rough work
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PART-III : REASONING

[SINGLE CORRECT CHOICE TYPE]

41. How many squares does the figure have ?
& TN pfd § wA N @ ww Bl
(A)6 (B)7 ©)9 (D) 10
42.  NTSE, mirror image of given word will be
NTSE & gfdfew g
(A)nled (BYU1e2E (CO)NL1sH (D)NLSE
43. Igotwo kilometres towards East. I turn right and go one kilometre I turn right and go one kilometre again.
In which direction am I now from my starting place.
(A) North - East (B) North - West (C) South - East (D) South - West
e | o U A &1 fhariex gd fen 3 =Iefd §, 39 918 G gHADR Uh [halHIeR aaldl §, $9d Ugand
R 9 SR gHax U@ fhalHier Iadl & | 319 H o U™ ¥ o e o &
(A) SR -gd (B) IR - ufte™ (C) sfayor - gd (D) &féror - gf¥=H
44. If x stands for —, + stands for +, + stands for + and — stands for X, which one of the following equation is
correct ?
I x BT ATAT — B, + BT ATAG + B, + BT ATAG + TAT — BT Aqd x 8, AT 9 F A P THadvor T2
(A)I5-5+5x20+10=6 B)8+10-3+5x6=8
C)6x2+3+12-3=15 D)3+7-5%x10+3=10
Space for rough work
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Directions : (Q. 45to 47) :

45.

46.

47.

In each of the following questions, arrange the given words in a meaningful sequence and then choose the

most appropriate sequence from amongst the alternatives provided below each questions.

TS U H & T TRl B U ALYl a¥ie I GIaRd BRI al el H Q¥ T G gaRed HH

H1 ggaMI |
1. College

3. Salary

1. HeIfdemer
3. TRATE

(A)1,2,4,3,5

1. Reading
3. Writing

1. 9g

3. ferem
(A)1,3,2,4
1. Cutting

3. Vegetable
1. ®re

3. |fest

(A)1,2,4,5,3

2. Child
4. School
2. g1

4. fqemmera

(B)2,4,1,5,3

2. Composing
4. Printing

2. Sire

4. BT
(B)2,3,4,1
2. Dish

4. Market

2. &% (Dish)

4. 9IoTR

(B)3,2,5,1,4

Directions (Questions 48 to 50) :

48.

49.

50.

5. Employment

5. ISR

©4,1,3,5,2

©3,1,2,4

5. Cooking

5. YPTl

©)4,3,1,5,2

(D)5,3,2,1,4

(D)3,2,4,1

(D)5,3,2,1,4

In each of the following questions an equation becomes incorrect due to the interchange of two signs. One

of the four alternatives under it specifies the interchange of signs in the equation, which when made will

make the equation correct. Find the correct alternative.
1 Al W R el @1 uRafkia fasar wan 8, a1 |8 uRadq @1 [ N el 3 e, e fan
TIT FHIHROT FeEl 99 T |

16+8+-4+5%x2=8

(A) = and x

94+45+4%x3-6=12

(A) + and x

12+-2-6%x3+8=16

(A) +and +

(B) —and +

(B) + and x

(B) —and +

(C) +and +

(C) +and -

(C)x and +

(D) — and x

(D) + and —

(D) + and x

MODULUS IIT ACADEMY: Ambedkar Circle, Alwar :
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51. If + means X, X means +, + means — and — means =+, find the value of 16 x 3 + 5 -2 + 4.
I+ BT J X, X BT Ff +, + BT Ff —FA — BT Ff + 8, A 16 X3 +5-2+4F A4 T BITU—

(A9 (B) 10 < 19 (D) None of these
52. ‘Fish’isrelated to ‘Water’ in the same way as ‘Bird’ is related to

(A) Water (B) Food (C) Sky (D) Air

R TBR Al & T4 ‘Sfa’ ¥ 8, SU UHR “Uell’ &7 TF 2—

(A) ST (B) HIor (C) 3R (D) arg

53. A dice is thrown thrice and its three positions are given below. Find the alphabet opposite P ?

TP IRY D1 dF IR SBTlT STl © 3R STl o9 Reyferdt i &) 18 21 P & faudid a1 =g difvre ?

(A) R B) T © Q (D) S
54. At what angle the hands of a clock are inclined at 15 minute past 5?

599 15 e R 'Sl @ ggal A P17 W) g B 5 2

1 1 1
A) 72-° B) 67—° C) 58=° D) 64°
(A) > (B) 5 ©) > (D)
55. What was the day on 1st Jan 19017
(A) Monday (B) Wednesday (C) Sunday (D) Tuesday
1 ST 1901 &1 i 471 &7 o ?
(A) GHaR (B) ggar (C) faar (D) HTIR
5/ \6 6/ \7 4/\8
56. ij§ Zijﬁ (jﬁ
4 5 10
(A) 14 (B) 22 (C) 32 (D) 320
Space for rough work
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57.

58.

59.

60.

Find the missing numbers :

Rad 91 &1 UgaI= ;

14, 316, 536, 764, ?

(A) 981 (B) 1048 (C) 8110 (D) 9100

In this question, four problem figure are given. Select a figure from amongst the answer figures which will
continue the same series as given in the problem figures.

9 U IR GAR MG &1 T8 © | IR MG H W T AR BT I B Sl AT MGhrdl 9 &1 T8
STAT & ATAR SR T2 |

Problem Figures

HTLLTTLLTH

Answer Figures

LTI

(A) (B) © D)

Buses for Delhi leaves in every thirty minutes from a bus stand. An enquiry clerk told a passenger that the

bus had already left ten minutes ago and the next bus will leave at 9.35 a.m. At what time did the enquiry
clerk give this information to the passenger ?

el 99 woe A Reell & fog ud@ 30 e 9 99 Moo € | To Yudre AfeR) &l I @1 9a1d g, 6
a9 10 fAic Ugcl BT 9@ © a7 N6l 9 9.35 a.m. TR g, O YBdTe ARGRT a1l B fhd T9 I8 o
EIRT

(A) 9.10 am (B) 8.55 am (C) 9.05 am (D) 9.15 am

A and B start walking in opposite direction. A covers 3 kms and B covers 4 kms. Then A turns right and

walks 4 kms and B turns right and walks 3kms. How far is each from the starting point ?

afd AT B Uh—g} & Audid fQen § a1 UR™ &-d © | If A, 3 kms T2 B, 4 kms Ied &, 99 A 01
f&=m # gHdHR 4 kms Tom B 9 SR &= # gHaR 3kms FAd &, I M1 U YRS g 4 fba 1 W)
g7

(A) 5 kms (B) 4 kms (C) 3 kms (D) 9 kms

Space for rough work
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2

NIT Jalandhar
Vipul Jain

$lo Pramod Jain

Neha Gupta
Dio Naresh Kumar Gupta

MANIT Bhopal

Vishal Meena
Slo Pooran Chand

2

NIT Raipur

Saransh Sharma
Sfo Rakesh Kumar Sharma

3

NIT Hamirpur

Lakshit Juneja

Slo Manoj Juneja

Bhavuk Dhanetia

Slo Anoop kumar Dhanetia

s
NIT Arunachal

Nitin Ghusinga
Slo Shrilal Meena

NIT Patna

Ravindra Kumar Meena
Slo Suresh Chand

NIT Manipur

Himanshu Meena
Slo Kailash chand Meena

AIT Pune

Arun
Slo Kanwar Pal

NIT Meghalaya

Devendra Kumar
Slo Laxman Prasad

Aryan Gupta
Slo Trivendra Gupta

-
MANIT Bhopal

Divyanshu Khandelwal
Slo Ashok kumar Gupta

Deepak Kumar
So Gheesa Ram

NIT Hamirpur

Ankur Kumar
Sfo Mukesh Chand

AIT Pune

Prateek Sikarwar
Slo Dharam Singh

IIIT Bhopal

Bholaram
Slo Jaivinder
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Great Team... Great Results... (IITians from Modulus)
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IIT Dhanbad IIT Jodhpur IIT Delhi IIT Delhi IIT Roorkee

Vishal Agarwal Lakshya Gupta Harshita Gupta Chahat Bansal Pranay Ninawat Deepanshu Budhraja Khushi Singh
Slo krishan kant gupta Slo Purshottam Dass Gupta Dlo Lokesh Gupta Slo Rajesh Kumar Bansal Slo Vikram Singh Slo Kishan Lal Khatri Dlo Rajender Singh

IIT Dhanbad
Bhavesh Sharma Nitik Sharma Riya Jain Vaibhav Singhal Ankit Sulaniya

Slo Sushil Kumar Sharma Slo Himanshu Sharma Dlo Mukesh Jain Slo Dinesh Kumar Singhal Slo Ramdayal Meena

Naman Saini Kartik Panwar
Slo Vimal pushp Slo Pradeep Kumar

o4 o
IIT Ropar IIT Hyderabad IIT Kanpur IIT Bombay

Ashish Sulania Lakshya Mukhija Harsh Khandelwal Abhimanyu Jain A ; P
h / shok Kumar Jat Mahima Kumar
Slo Prem Chand Slo Charan Jeet Mukhija Slo Virendra Kumar Gupta Slo Anil kumar Jain Slo Ramkishan Jat Dlo Raj Singh Sllzll.sa;?ndsrlansgingh

K‘;\f‘f]

IIT Palakkad

Anmol Agarwal Niraj Yadav Hemant Kumar Mohit Saini Saumil Gupta Himanshu Yadav
Slo Manoj kumar Agarwal Slo Rajendra Yadav Slo Mahesh chand Slo Rajesh Saini Slo Girish chand Gupta Slo Manoj kumar Yadav

IIT BHU IIT BHU

Sourav Amit Mina Nikita Mina Aynansh Khandelwal Rishita Gupta
Slo Mahendra Kumar Slo Om Ram Mina Do Mukesh Chand Meena Slo Manoj Khandelwal Dlo Rishi Gupta
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MODULUS ACADEMY
Ambedkar Circle, Alwar (Rajasthan); Ph. 9460374000, 9460378000
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